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DIPLOMA EXAN4INATION IN ENGINEERING/TECHNOLOGY/
MANAGEMENT/COMMERCIAL PRACTICE - APRIL. 20I9

ENGINEERING MATHEMATICS - II

(Maximun marks : 100)

PART - A

lMrximun merks : I0.1

I Arsrver a// questrons. Eacl.r questiou carries 2 marks.

l. I'ind thc unit vector in the tiircction of Zi - :i +k.

[77rae : 3 hours

Marks

2. Eraliiate lsec o tan o

lran U Sec 0

3. lfA=[02 j] B:il 4*ll. findArB.

;{. lntegratc scc2x - 1 rvith respect to x.

5. Find the onler and degree ol'tire differential equatiol

.4! * !:r +1.!L))= c\dxl'd\2'\,rrr-" (5xl-l(17

PART - B

(Maximum marks : 30)

ll Ansrver anv /ii,e. of thc fo)loi,r-rng questions. Each question carries 6 marks.

I . f ind the dot protluct antl anglc berween the vectors r,1- li * :t ,,,,1 :i + j - t
2. Find the niicldle terms in the cxpausion ol (x + 2i17

l. Solvc by Cramer's rule. Givcn

2x*-ly +z =- 1, x +4y-22:3, 4x-y +32:-ll

-r rt q - [l il r.ntu rhar AA-r : ,\-tA : t.L+ v.l

5. L,r,aluate ff12 .o.+* cos x dx.

6. Obtain ihe r.oltune cf a sphc.re ttf ratlius 'r' using integration-

7. Solve -4i +ycotx=2cosr. (5x6=30ilx

t8l
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PART - C

(Maximum marks : 60)

(Answer.oze full question from each unit. Each full question carries 15 marks.)

UNrr - I

(a) If?=si-i-:i<, ts=i+{-st Show that the vectors?+3 and?-Ba.e
perpendicular to each other.

t- l\5
Expand [xr -fl binomially.

Find the moment about the point A(4, 0, -3) of a force represented by

3i + 2j + 6k acting though the point B(2, -1, 5).

The constant rorces zi- sj + 6t, -i + 2i-t and i + fi acton a parricte

from the position 41- { - lI to ol + I - :1. Find the total work done.

Find the coefficient of xrs in the exparsion 
"f 

(.0 - j ) "
Find the area of parallelogram whose adjacent sides are rcpresented by the

vdctors ?= l- j * li. ana t'= zi- zf + i.

(b)

(c)

v (a)

(b)

(c)

u ,", ,ro = j]
(b) Solve x if

(") rfA = 
[_j

UNrr - II

show thatA.2-4A-51=0.

4xx
2
6

l

iil
l?i

23
5-l

It 21
and B=l j 4 lcompure AB and BA.

L-l 1l

On

(at Find inverse of l-i 
-l 

-l 
-l

Lr r rl
rt 0 sl

(b) If A= 
L-2 

I 6l comrute A + Ar andA-Ar. Hence show that one is

slanmefric and the other is skew-s),rnmefic.

(c) Solvea+1 = r, **i =, O, determinant method.

5

5
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UNn - III

ul (a) Find I sec2x d*.' 1+tan x

nind J x2d* dx.

Evaluate f cos2 Z* dr.

(b)

(c)

5

5

5

5

5

x (a)

(b)

(c)

On

(a) Find J { r+ ,in z^ a*.
IC

@) Evaluate Il x sin* a*.

(c) Evaluate Jt" l** I a*." x'+x+l
Urn - lV

(a) Find the area enclosed between y = x2 and the straight line y = x + 2.

(b; Find the volume of the solid generated by the rotation of the area bounded

by the curve y= 2 cos x, the x-axis and the lines x= 0 and x = f about

x axis.

(c) Solve fl =.:**,
On

Find the area bounded by the curve y = x2 - 5x + 6 and the x axis.

d2v
Solve fr = cosecz x.

Solve (x2 + r1 $+ 2xy:4*2.

5

5

Marks

VIII

x
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